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" The fi igures m L the margin indicate ﬁlll marks ;
- for the questions. 8
: Answer_all the questions :
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1. (a) Discuss ~some important typologles ' f p
organisation;, Classify organisations on thé
" basis of pnme beneficiary and point out whab
problems such organisations are faced Wlth
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2. “““(31) Define t\i]é term "Span of Managemeri{'

(b)
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would you determine the optimum e

a given situation ? 611 -16 |

Or 3 |

Criticallv discuss the necessity of d4 2C 1itra-
hization of authority in an mgamsatlon 50 as
to make delegation niore meaningfu} and
effective. ' 16
Bring out the role of groups 5ig  an
organisation. Substantiate the clanﬁ that
group task influences. group pf:rformancc and

satisfaction. B--lé |
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Discuss with examples, why perceptlo
key factor.in management.
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Point out in brief, some behawoura* Imph-
cations of control. Suggest some Suﬂable
measures to minimise behavioural dlsfunc 1ons
of control. :16
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Distinguish between hygiene factotb and

motivation factors. What is the 51gn1ﬁc“nce
of Herzberg's theory in actual life ?;
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How does distortion in comn}umcatlon take . -
place 7 What are the barric 30f effectwe
comumunication ? 8 +8= 16
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b) Why is organisational change {often resisted
by individuals and groups fwithin the
organisation ? How can suchi resmtance be
prevented or overcome ? | K+8= 16
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